REPAIR AND PREVENTATIVE MAINTENANCE
23470 1. REPAIR CONCRETE SPALLING DAMAGE ON THE FOLLOWING STRUCTURAL MEMBERS:
<5 JOHANNESBURG EMALAHLENI > 11 PARAPET ENDBLOCKS
REPAIR END BLOCK SPALLING DAMAGE REPAIR END BLOCK SPALLING DAMAGE ATTACH GUARDRAIL TO END BLOCK 12 KERBS
COVER WITH AN APPROVED ANTI- PAINT EXISTING STEEL PARAPETS COVER WITH AN APPROVED ANTI-
CARBONATION COATING _l CARBONATION COATING 2. COVER THE FOLLOWING MEMBERS WITH AN APPROVED ANTI-CARBONATION COATING
INSTALL NEW KERB
INSTALL NEW KERB —\ 21 PARAPET ENDBLOCKS
| | | | | | | | | = ] [ ] > | | | | | i i 22  KERBS
| ]
i 3. INSTALL NEW KERBS AT THE ENDBLOCKS TO ACCOMMODATE NEW EXPANSION JOINT
TERMINATIONS
4. REMOVE EXISTING DECK BITUMINOUS SURFACING AND TOP OF CONCRETE NOSINGS BY
MILLING.
5. OVERLAY THE DECK WITH A NEW 50 mm BRAC SURFACING LAYER.
6. INSTALL NEW ASPHALTIC PLUG TYPE JOINTS, INCLUDING JOINT TERMINATIONS AND
COVER PLATES.
/ 7. SEAL KERB EXPANSION JOINTS WITH AN APPROVED SILICONE SEALANT.
8. PAINT THE EXISTING STEEL PARAPETS, AS FOLLOWS:
8.1 SURFACE PREPARATION — ABRASIVE BLAST CLEANING
8.2 PRIMER - INORGANIC ZINC WITH A 75 MICRON DRY FILM THICKNESS.
ELE1\1/£‘T|ON 8.3 2ND COAT - TWO COMPONENT CROSS-LINKED EPOXY WITH A 75 MICRON DRY FILM
: THICKNESS.
8.4 FINAL COAT — ALPHATIC ACRYLIC POLYURETHANE WITH A 40 MICRON DRY FILM
THICKNESS.
FORMATION WIDTH = 13250 9. ATTACH GUARDRAILS TO ENDBLOCKS WITH M16 CONCRETE ANCHORS.
SURFACED WIDTH = 12190 10. INSTALL NEW BRIDGE NUMBER PLATES
430 2150 3700 3700 2150 480 11. INSTALL TWO NEW HAZARD WARNING PLATES
PAINT EXISTING STEEL PARAPETS —|
—PAINT EXISTING STEEL PARAPETS
|
|
REPAIR CONCRETE SPALLING DAMAGE
! REMOVE EXISTING BITUMINOUS SURFACING COVER WITH AN APPROVED ANTI-
REPAIR CONCRETE SPALLING DAMAGE VELLOW LINE AND REPLACE WITH NEW 50mm BRAC YELLOW LINE— CARBONATION COATING
COVER WITH AN APPROVED ANTI- !
/" CARBONATION COATING
|
|
|
|
|
TYPICAL DECK SECTION
1:25 /\/
300 END BLOCK
NEOPRENE PRESSFIT NEOPRENE PRESSFIT
ASPHALT OVERLAY RUBBER SEAL ORIGINAL DAMAGED CONCRETE RUBBER SEAL ORIGINAL NEW KERB
—‘l DECK SURFACING NOSINGS l DECK SURFACING \\ -
450 ' 1 - R10 BARS ‘
NUMBER PLATE NOTES = v __ 3 —— =—uavil = EXISTING KERB
70 |, 54 142208, 44 11, 47 |28, 42 | 70 ||7 410 BARS GROUTED \
7
| 142218) 44 | ‘ . 1 GENERAL INTO DRILLED HOLES
~ 1.1 LETTERS AND NUMERALS SHALL BE TYPE 'B' LETTERS TO DIN 1451 PART 2. \ EXPANSION GAP
S 4712mm 1.2 THE DATE ON THE BRIDGE NUMBERS SHALL BE THE YEAR IN WHICH THE BRIDGE WAS COMPLETED. CONCRETE NOSINGS I
e DIAHOLES 1.3 THE BRIDGE NUMBERS SHALL HAVE A WHITE BACKGROUND WITH BLACK LETTERS, NUMERALS AND i
D BORDER. 7 _=LEVEL TO WHERE ASPHALT
N EXISTING EXPANSION JOINT QIEI\DA g\%\lg;E(T,\AElC/\LllthGBE EXISTING EXPANSION JOINT EXISTING CONCRETE NOSINGS
sl o - 2. MANUFACTURE OF NUMBER PLATES AND TEMPLATES (B1980A) EASTBOUND (B1980B)WESTBOUND
S 3 1:10 1:10
Al 2.1 TYPE 1: NUMBER PLATES Y
> NEW KERB
R S 2.1.1 THE NUMBER PLATES SHALL BE MANUFACTURED FROM NON-METALLIC, UV RESISTANT MATERIAL. 110
& 4 REMOVE ALL ASPHALT LAYERS AND
~ 22 TYPE 2: PAINTED NUMBERS TOP OF CONCRETE NOSING BY MILLING, —— 20mm SAW-CUTS
‘ 20 DOWN TO DECK CONCRETE SURFACE
- d 10| 28l 28 164 2.2.1 THE TEMPLATES FOR THE PAINTED NUMBERS SHALL BE MANUFACTURED FROM VINYL DECAL IN BRAC OVERLAY C
| A A | NEGATIVE STENCIL FORM COMPLETE WITH APPLICATION TAPE. F \ \
!
!
3. CONSTRUCTION CONCRETE NOSINGS '
NUMBER PLATE DETAIL : BRIDGE A T APPROVED
15 / ) SILICONE SEALANT END BLOCK < END BLOCK
- 3.1 TYPE 1 : NUMBER PLATES
. CLEAN EXPANSION GAP NEW KERB —
REMOVE TEMPORARY FILLER | TEMPORARY FILLER
450 3.1.1 THE BRIDGE NUMBER PLATES SHALL BE POSITIONED AS SHOWN. AND BRAC OVERLAY BETWEEN
3.1.2 THE NUMBER PLATE SHALL BE SECURELY FASTENED TO THE INSIDE FACE OF THE SHUTTER BY REPAIR : STEP 1 SAW-CUTS - 4 A
MEANS OF M10 ANCHOR BOLTS. THE PROTRUDING THREADS OF THE BOLTS SHALL BE COATED WITH 1 REPAIR : STEP 4 EXPANSION JOINT NEWKERB \ 650x150x3mm NON-METALLIC
AN APPROVED DEBONDING AGENT. ONCE THE CONCRETE HAS SET AND PRIOR TO STRIPPING THE ' - COVER PLATE T TT T e SRAC COVER PLATE
SHUTTER THE M10 ANCHOR BOLTS SHALL BE REMOVED. THE BOLT HOLES SHALL BE MADE GOOD 110 g
~ WITH EPOXY FILLER AND THE PAINT WORK TOUCHED UP. ||
= ‘1o —— 20mm SAW-CUTS — ] I
3 mm FORM A 400mm WIDE x 50 DEEP |
DIA HOLES ‘ RECESS IN CONCRETE NOSINGS APPROVED ASPHALTIC
~ S 50x50x2 [ ' PLUG BINDER COAT EXPOSED SURFACES | NEW ASPHALTIC TYPE
- WITH THORMA SEAL BJ200
N L GALVANISED 76x76x3 [ 3 BRAC OVERLAY EXPANSION JOINT ASPHALTIC BINDER TAKEN
3l S STEEL GALVANISED STEEL REMAINING ol —| CONTINUOUSLY UP INTO
= (HAZARD PLATE) RIVER PLATE CONCRETE NOSING ! { 125x200mm RECESS IN KERBS
2 300 — T — T C
2 _ o - CLEAN EXPANSION GAP |
< & jN 1:5 SLOPE NOTE: R — S — SECTION C-C
= = / N REPAIR : STEP 2 REMOVE ANY STEEL REINFORCEMENT EXPANSION JOINT : KERB TERMINATION 1:10
‘ 20 NN : RSN 10 IN RECESS. COVER ANY EXPOSED STEEL REPAIR : STEP 5 1:10
: ENDS WITH A ZINC-RICH PAINT :
165 1 81128128 164 SOILCRETE (OR AS REQUIRED 110 NOTE:
! 70 4 17 ! BY ENGINEER) GALVANISED THE JOINT TERMINATION SHOWN IS AT THE END BLOCKS,
12mm @ DOWEL 8 S M12 BOLTS — M10 GALVANISED LOCATING BOLTS ALL DECK EXPANSION JOINTS AT PIERS SHALL BE SIMILARLY
NUMBER PLATE DETAIL : BRIDGE B 300mm LONG = 100x3 GALVANISED MILD TERMINATED IN KERB RECESSES AND COVERED WITH
s THROUGH POST S NEW BRAC OVERL AY_| STEEL STRIP COVER PLATES
‘% : \I\ :
o v g ;/
8 / /:_7 , / //“ & | - |
p. / I~ GRAVEL -~ 1 \ TORCH-ON
8 TAVER > BITUMINOUS SEAL
620
6000 HAZARD MARKER PLATE
ey TEMPORARY FILLER | JUTEPLUG o 510 o
HAZARD PLATE FOUNDATION REPAIR : STEP 3
1:20
1:10 i -
3 - |
= | |
2 | |
| |
90mm x 14mm L A 3mm THICK NON-METALLIC e S eSS BTEEL g
SLOTTED HOLE "COVER PLATE 3
SCREW AND WASHER SCREW AND WASHER 3
o
Z
EXPANSION JOINT COVER PLATE 3
15 )
Z
>
—
O
A
>
=
Z
®
CONSTRUCTION RECORD DESIGNED BY
ORKS CONTRACT ENGINEER — CONSULTANT APPROVAL HEAD OFFICE S A N R AL NORTHERN REGION ACCEFTANCE PROJECT DESCRIPTION PROJECT NUMBER N.012-200-2019/2F
g - 7 NAME 48 Tambotie Avenue 38 Ida Street THIS ACCEPTANCE IS FOR PROCEDURAL AND DRAWING LOCATION DATA START END
ENDECON UBUNTU JTRAUTENBACH Val de Grace Menlo Park | ADMINISTRATIVE REVIEW PURPOSES ONLY THE REPAIR AND RESURFACING OF NATIONAL ROAD N12 e on o
Neme MPUMALANGA (PTY) LTD Prof. Reg No. 510252 neme O VERTER Pretoria Pretoria | AND DOES NOT ATTRACT LEGAL LIABILITY OR SECTION 20 FROM PETROPORT (km 20.0) TO OGIES (km 42.2)
E:;; Reg. No. : ke CHECKED BY Prof. Reg. No. : 20010154 0184 0081 | LIABILITY OF ANY KIND FROM WHATSOEVER SECTION 20 20
PO Box 415 Private Bag X17 CAUSE OR HOWEVER ARISING DRAWING km DISTANCE 24.60 24.72
SANRAL PROJECT MANAGER 9 Ehmke Street P.O Box 6215 NAME Pretoria 0001 Lynwood Ridge BLESBOK RIVER BRIDGE B1981 A&B AT KM 24.682 ORAWING TYPE STRUCTURES.BRIDGES
MBOMBELA MBOMBELA AU JANSE VAN RENSBURG South Africa 0040 REPAIR GENERAL LAYOUT : SHEET 2 BRIDGE/STRUCTURE No 51981 ASB
V1 |05/10/2021 ORIGINAL VERSION JR Name MPUMALANGA MPUMALANGA Prof. Reg. No. 950018 Tel: (012) 844 8000 Tel: (012) 6656200 . .
BUILDING SOUTH AFRICA for : SA NATIONAL ROADS AGENCY SOC LTD. CONSULTANT DRAWING No. B1981/R2 VER
No. | DATE REVISION CONSULT. Date 1200 Tel: (013) 755 1190 1200 DRAWN BY THROUGH BETTER ROADS _
' ENG. NAME D VENTER Date: SCALE: AS SHOWN | SHEET 2 OF SANRAL DOCUMENT # V1



Tjaart van Wyk
Placed Image

Tjaart van Wyk
Placed Image


